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Dis 3C Worksheet

Tuesday, July 7, 2020 11:11 PM

3 Gram-Schmidt Algorithm

t's apply-Eram-Schmidt orthopormaliagts 2t of three linearly mdl.pcndmnt vectors
I SR AT
a) Find unit vector_such that -.pn% span(Q3).
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d) Let’s extend this algorithm to n linearly independent vectors. That is, given an input
{51,...,5u}, write the algorithm to calculate the orthonormal set of vectors {§1, ..., .},
where span({5y,...,5,}) = span({{y, ..., §n}). Hint: How would you calculate the i'"
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4 The Order of Gram-Schmidt

a) If we are performing the Gram-Schmidt method on a set of vectors, does the order in
which we take the vectors matter? Consider the set of vectors o

) )

Perform Gram-Schmidt on these vectors first in the order ©,, 02, 0.
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